Heures, min., sec. <--> code a virgule - gamme 06

Exercice 1
Transforme dans I"'unité (les unités) demandée(s)

A B
1 11T h 49 mMin 32 SEC = «ererreerree h 5h 25 MiN 9 SEC = ceeerenrerens h
2 10 h 17 min 52 seC = oevevenennns h 2 h 46 min 30 SEC = -ceevrerneen h
ER 7 h 44 min 20 seCc = «orreeunnne h 3 h 40 Min 13 SEC = eervreeeeres h
4 4 h 52 min 8 SE€C = veerereren h 10 h 17 min 26 SEC = eerrvvveenns h
5 8 h 53 min 56 seC = «eerennnns h 10 h 31 min 38 S€C = -ceevrernen h
6 3 h 42 min 42 SeC = e h 2 h 39 min 37 SEC = «eerrerreenn. h
7770 12 h 12 min 34 SeC = e h 5 h 40 Min 36 SEC = ceeeererreens h
8 6 h 16 Min 15 S€C = «reereerennn h 5 h 24 Min 32 SEC = ceeeererreens h
9 8 h 20 min 8 sec = «eeeennnens h 10 h 59 mMin 35 SEC = «reeerernrens h
10 10 h 22 min 22 seC = «vevennennns h 3 h 5 min 21 SEC = ceeveerreenn h
11 11 h 47 min 56 seC = .evennnnnn. h 3 h 21 min 46 SEC = «ereeerreenn h
12 8 h 42 min 25 seC = «evevennenns h 9 h 23 min 57 S€C = «eeevrerneen h
13 11 h 38 min 27 seC = eevennenn. h 4 h 52 mMin 5 SEC = cerereernnens h
14 12 h 54 min 16 sec = .ceeeenneenn. h 12 h 8 mMin 29 SEC = -reeerernrees h
15 10 h 52 min 39 SeC = «evereernn h 4 h 20 min 11 S€C = «erreeereenn. h
Exercice 2

1 3.1994 h = ....... h ... min ....... sec 7.7056 h = ...... h ... min ....... sec
21 22567 h = . h.... min ....... sec 2.5439 h = ... h.... min ....... sec
3 1 65478 h = ... h ... min ....... sec 71842 h = ... h ... min ....... sec
41 8.0178 h = ...... h..... min ....... sec 2.6925 h = ... h ... min ....... sec
5 1 95669 h =.... h ... min ....... sec 12.5256 h = ...... h ... min ....... sec
6 1 6.7056 h = ..., h ... min ....... sec 9.9528 h = ....... h ... min ....... sec
7 47081 h = ... h..... min ....... sec 7.8844 h = ..... h ... min ....... sec
8 1 1.2297 h = . h ... min ....... sec 1.5414 h = ...... h ... min ....... sec
9 1 10.4064 h = ...... h..... min ....... sec 4.2581 h = ....... h ... min ....... sec
10 71544 h = ... h ... min ....... sec 2.8633 h = ... h ... min ....... sec
11: 95997 h = ... h ... min ....... sec 51117 h = ... h ... min ....... sec
121 28008 h = ..ot h ... min ....... sec 12,1389 h = ....... h ... min ....... sec
131 19731 h = .. h ... min ....... sec 6.7603 h = ....... h ... min ....... sec
141 99875 h = .. h..... min ....... sec 8.4225 h = .uo.. h..... min ....... sec
15 6.8969 h = ....... h ... min ....... sec 8.3975 h = ....... h ... min ....... sec
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Heures, min., sec. <--> code a virgule - gamme 07

Exercice 1
Transforme dans I"'unité (les unités) demandée(s)

A B
1 12 h 24 mMin 48 SEC = «erereeeeree h 6 h 6 MiN 59 SEC = -eeereerennns h
2 5 h 38 min 30 S€C = -weeeeueenee h 15 h 10 mMin 29 SEC = «errrrreeeens h
3 8 h 26 min 37 seCc = «ovevvninns h 13 h 40 mMin 55 S€C = ceeervernenn h
4 7 h 44 min 2 sec = «oeeeennen. h 7 h 41 min 44 S€C = cieverennenen h
5 4 h 42 min 33 S€C = «eevenrennns h 2 h 21 min 40 SEC = eeerrernnens h
6 9 h 22 min 52 SeC = e h 8h 1 min 27 SEC = eeerervereens h
7 11T h 56 Min 18 S€C = «veereerenn h 3 h 55 Min 18 SEC = eeevreeeere h
8 T h 5 min 54 seCc = «eeeeeennns h 5 h 42 min 42 SeC = ceeereernnees h
9 3 h 17 min 49 seCc = .coeeeeeennns h 15 h 24 min 57 S€C = ceeervernenn h
10 10 h 53 min 44 seCc = -oeeneenens h O h 4 min 46 SEC = -ceevrerneen h
111 2 h 51 min 23 SEC = e h 10 h 33 min 3 SEC = commrrrnnns h
12 11T h 51 min 45 sec = .coeeevvnene. h 7 h 30 min 44 SEC = ceeveerreenn h
13 7 h 15 min 21 seCc = «oeeeeeennns h 5h 6 min 51 SEC = cereeeernnees h
14 1T h 25 min 29 seC = «oeervnenen h 7 h 52 Min 47 SEC = eervrrveeens h
15 14 h 11 min 37 seCc = «oeevennns h 1T h 10 Mmin 1 SeC = ceeervernenn h
Exercice 2

1 5.7778 h = ....... h ... min ....... sec 13.7069 h = ....... h ... min ....... sec
2 1 44336 h = h..... min ....... sec 11.5831 h = ....... h..... min ....... sec
31 3385 h = h ... min ....... sec 9.6797 h = ....... h ... min ....... sec
41 95444 h = ... h..... min ....... sec 24314 h = ....... h ... min ....... sec
5 1 47444 h = ... h.... min ....... sec 11.0647 h = ....... h.... min ....... sec
6 1 82158 h = .. h ... min ....... sec 12.1683 h = ....... h ... min ....... sec
7 1 63017 h = . h..... min ....... sec 6.6222 h = ....... h ... min ....... sec
8 1123019 h = ... h ... min ....... sec 14.0181 h = ....... h ... min ....... sec
9 78972 h = ... h ... min ....... sec 2.7686 h = ....... h ... min ....... sec
100 12,5203 h = .o h..... min ....... sec 2.6342 h = ....... h..... min ....... sec
11 79197 h = ... h ... min ....... sec 8.8342 h = ... h ... min ....... sec
128 47183 h = e h ... min ....... sec 14.0981 h = ....... h ... min ....... sec
131 87247 h = ... h ... min ....... sec 6.4622 h = ....... h ... min ....... sec
141 27325 h = . h ... min ....... sec 4.2853 h = ... h ... min ....... sec
15 1.6831 h = ... h..... min ....... sec 23839 h = ... h ... min ....... sec
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Heures, min., sec. <--> code a virgule - gamme 08

Exercice 1
Transforme dans I"'unité (les unités) demandée(s)

A B
1 12 h 19 min 53 seC = «oeeenennn h O h 37 Min 43 SEC = «rreeeeerenns h
2 18 h 59 min 46 seC = .ceeeevnrenn. h 14 h 57 min 52 S€C = «ceevrernen h
3 10 h 26 min 2 SeC = coeeevenenens h 7 h 10 min 10 SeC = ceeveenreenn. h
4 13 h 14 min 7 S€C = «eveenennns h 1T h 17 min 23 SEC = eeeerrrrenns h
5 T h 6 mMin 2 $€C = coeenveennns h 5 h 28 min 48 SEC = ceeerrernnes h
6 7 h 54 min 40 seC = «ceeeeeennn h 5 h 39 Min 38 SEC = crereeeeeren h
7 9 h 3 min 42 $eC = ceeeevenenens h 3 h 2 min 38 SEC = ceeveerneenn h
8 7 h 15 min 27 seC = .ceveeeeennns h 9 h 23 min 20 SEC = eeerrernnes h
91 17 h 54 min 16 seC = e h 3 h 34 min 39 SeC = coemrrnn h
10 9 h 21 min 44 seC = ceeeeverenens h 8 h 12 min 22 S€C = ceeeerveennes h
11 5h 9 min 43 sec = «reeenenns h 11T h 54 min 57 SEC = «ceerereennne h
12 6 h 46 min 50 seCc = «eerennnns h 8 h 21 min 23 S€C = «ceerrrernnne h
13 13 h 41 min 12 sec = «eveerennns h 5 h 28 min 38 S€C = -ieeerernen h
14 7 h 53 min 34 seC = e h 11 h 24 min 54 SeC = coomrrrroen h
15 16 h 56 min 33 seCc = .eevennnenn. h 7 h 29 min 24 S€C = «eveeerrrenn h
Exercice 2
1 12.7097 h = ..o h ... min ....... sec 9.1972 h = .ueon. h ... min ....... sec
2 1 146489 h = ... h.... min ....... sec 18.5275 h = .oou. h.... min ....... sec
3 11346 h =.... h..... min ....... sec 41872 h = ...... h..... min ....... sec
4 1 11.0869 h = ....... h ... min ....... sec 12.3986 h = ....... h ... min ....... sec
5 1 11.8728 h = ..., h.... min ....... sec 7.9889 h = ... h.... min ....... sec
6 1 55842 h = ... h ... min ....... sec 10.9036 h = ....... h ... min ....... sec
7 1148639 h = ... h ... min ....... sec 13.8328 h = ....... h ... min ....... sec
8 1 18.5756 h = ..., h ... min ....... sec 4.5381 h = ...... h ... min ....... sec
9 1105811 h = .. h ... min ....... sec 9.3922 h = .uene h ... min ....... sec
100 129289 h = ... h..... min ....... sec 8.1983 h = ....... h..... min ....... sec
111 11,4797 h = ... h ... min ....... sec 6.1333 h = ....... h ... min ....... sec
128 41867 h = .o h ... min ....... sec 1.4444 h = ...... h ... min ....... sec
131 129064 h = ....... h ... min ....... sec 1.3319 h = ...... h ... min ....... sec
141 18.0189 h = ..o, h ... min ....... sec 2.0783 h = ... h ... min ....... sec
15 7.5072 h = .o h..... min ....... sec 51844 h = ....... h..... min ....... sec
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Heures, min., sec. <--> code a virgule - gamme 09

Exercice 1
Transforme dans I"'unité (les unités) demandée(s)

A B
1 11 h 30 Min 27 sec = coeeveennn h 14 h 48 mMin 31 SEC = «errrereeees h
2 12 h 31 min 52 seC = oerevenennns h 14 h 29 min 27 SEC = ceeervernenn h
3 8 h 10 min 4 sec = «vevvennnnn. h 17 h 55 min 57 SEC = «ceevrerneen h
"4 16 h 10 min 34 SeC = eveeereenn. h 15 h 45 min 14 SEC = eerrrvreeent h
5 10 h 30 min 0 sec = -eeeneennns h 13 h 2 min 45 SeC = cveevvernenn h
6 9 h 29 min 54 S€C = -vovereeeen h 7 h 32 min 58 SEC = eerrrrrrenn. h
770 10h 5 min 22 SeC = evvern. h 13 h 53 min 47 SEC = eevererenn h
8 3 h 20 Min 25 S€C = teeverrennnns h 5 h 56 min 48 SEC = cereerernnens h
9 9 h 46 min 23 SeC = e h 10 h 44 min 15 SeC = worerrreenn h
10 16 h 34 min 49 seCc = .ceevenrnnn. h 6 h min 10 S€C = «eeervreennn. h
110 17 h 40 min 39 SEC = -evererne. h 15 h MIN 22 SEC = «eeeveerrnns h
12 4 h 55 mMin 57 S€C = -weeeeevvenes h 5 h 24 MiN 2 SEC = ceeeererrees h
13 3 h 19 min 7 $S€C = ceveervennnnn h 5 h 37 min 20 SEC = ceeerrernnes h
14 3 h 29 min 31 seC = e h 11 h 1 min 28 SeC = coommonn h
15 18 h 25 mMin 29 S€C = «eeereereen h 12 h 38 min 13 SEC = «errrrveeeens h
Exercice 2

11107328 h = .. h ... min ....... sec 19.5767 h = ....... h ... min ....... sec
2 1 53158 h = . h ... min ....... sec 1.5575 h = ... h ... min ....... sec
3 1 12,4006 h = ...... h..... min ....... sec 17.8681 h = ....... h..... min ....... sec
4 1 1894 h =...... h..... min ....... sec 4,5553 h = ...... h ... min ....... sec
5 1 20833 h = ... h ... min ....... sec 3.5739 h = ... h ... min ....... sec
6 1 18.3881 h = .o h ... min ....... sec 17.5694 h = ....... h ... min ....... sec
7 0 61172 h = . h..... min ....... sec 20.3575 h = ...... h ... min ....... sec
8 1 87217 h = . h ... min ....... sec 10.3986 h = ....... h ... min ....... sec
9 32761 h = ... h ... min ....... sec 15.0494 h = ....... h ... min ....... sec
10 71869 h = ...... h ... min ....... sec 12.7842 h = ....... h ... min ....... sec
11: 82353 h = .. h ... min ....... sec 18.0844 h = ....... h ... min ....... sec
121 34489 h = ..o h ... min ....... sec 8.6597 h = ....... h ... min ....... sec
131 32081 h = ... h ... min ....... sec 5.55 h = h ... min ....... sec
141 24442 h = .. h..... min ....... sec 1.0792 h = ... h..... min ....... sec
15 8.8436 h = ... h..... min ....... sec 12.2217 h = ... h..... min ....... sec
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Heures, min., sec. <--> code a virgule - gamme 10

Exercice 1
Transforme dans I"'unité (les unités) demandée(s)

A B
1 13 h 12 min 15 sec = «ooeveeennn h Oh 5 mMin 14 SEC = «rreeeeerenns h
2 9h 46 min 2 SEC = e h 13 h 38 Min 44 SEC = «rererreenn. h
3 18 h 22 min 32 seCc = -oeeveeenns h 22 h 58 min 41 SEC = +eeveereenen h
T4 23 h 10 min 41 SEC = e h 13 h 52 min 3 SEC = eorerernn. h
5 10 h 32 min 1T sec = «eveenennns h 2T h 49 min 30 SEC = «ceveereenee h
6 22 h 40 min 40 seC = - coveeeeennns h 11 h 26 min 31 S€C = -ceevrernen h
7 3 h 4 min 21 seCc = «oveeennn, h 20 h 9 mMin 51 $S€C = - eveeverenen h
8 18 h 27 min 5 seCc = «veveevennns h 13 h 45 Min 6 SEC = ceeervernenn h
9 7 h 17 min 25 sec = «veveevennnes h 17 h 18 min 32 SeC = creeererennes h
10 1T h 5 min 49 seCc = ievenennns h 6 h 3 min 0 SEC = coeeerveennes h
11 8 h 37 min 35 seC = «eeeenenen h 21 h 9 Min 6 SEC = eererrrrenne h
12 17 h 12 min 50 sec = -oeeneeenns h 19 h 34 min 19 Sec = «veeevernenn h
13 15 h 52 min 1 sec = .eeennnnnn, h 2 h 21 min 52 S€C = -ieerernen h
14 20 h 27 min 40 seC = .coveeveennns h 23 h 51 mMin 16 S€C = «evverveenne h
151 3h 21 min 1 sec = e h 10h 2 min 17 SEC = rrvrveornn h
Exercice 2
1 13.3892 h = ....... h ... min ....... sec 10.6469 h = ....... h ... min ....... sec
2 1239494 h = ... h....... min ....... sec 20.5225 h = .eeee h....... min ....... sec
3 1178964 h = ....... h ... min ....... sec 5.7908 h = ...... h ... min ....... sec
4 1 13.2056 h = ...... h..... min ....... sec 22.25 h = ... h..... min ....... sec
5 1 69033 h = h ... min ....... sec 9.7758 h = ....... h ... min ....... sec
6 1 16.9906 h = ....... h ... min ....... sec 6.5361 h = ....... h ... min ....... sec
7 1 234725 h = . h..... min ....... sec 13.2778 h = ....... h..... min ....... sec
8 1 .16.2339 h = ....... h ... min ....... sec 3.,6686 h = ....... h ... min ....... sec
9 1 11.1486 h = ....... h..... min ....... sec 5.0989 h = ....... h..... min ....... sec
100 11564 h = ....... h..... min ....... sec 15.4089 h = ...... h..... min ....... sec
11: 81603 h = ... h ... min ....... sec 19.6631 h = ...... h ... min ....... sec
121 11,4981 h = .o h ... min ....... sec 11.4778 h = ... h ... min ....... sec
131 1.7889 h = ....... h ... min ....... sec 3.8389 h = ....... h ... min ....... sec
141 21.7158 h = .o h ... min ....... sec 6.9772 h = ...... h ... min ....... sec
15 3.8364 h = ... h..... min ....... sec 3.0442 h = .o h..... min ....... sec
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Corrigé : Heures, min., sec. <--> code a virg. - gamme 06

Exercice 1
Transforme dans I"'unité (les unités) demandée(s)

A B
1 11T h 49 min 32 sec = 11.8256 h 5 h 25 min 9 sec = 5.4192 h
2 10 h 17 min 52 sec = 10.2978 h 2 h 46 min 30 sec = 2775 h
"3 7 h 44 min 20 sec = 7.7389 h 3 h 40 min 13 sec = 3.6703 h
41 4 h 52 min 8 sec = 4.8689 h 10 h 17 min 26 sec = 10.2906 h
"5 8 h 53 min 56 sec = 8.8989 h 10 h 31 min 38 sec = 10.5272 h
"6 3 h 42 min 42 sec = 3.7117 h 2 h 39 min 37 sec = 2.6603 h
"7 12 h 12 min 34 sec = 12.2094 h 5 h 40 min 36 sec = 5.6767 h
"8 6 h 16 min 15 sec = 6.2708 h 5 h 24 min 32 sec = 5.4089 h
97 8 h 20min 8 sec = 83356 h 10 h 59 min 35 sec = 10.9931 h
1o 10 h 22 min 22 sec = 10.3728 h 3 h 5 min 21 sec = 3.0892 h
11 11 h 47 min 56 sec = 11.7989 h 3 h 21 min 46 sec = 3.3628 h
127 8 h 42 min 25 sec = 8.7069 h 9 h 23 min 57 sec = 9.3992 h
131 11 h 38 min 27 sec = 11.6408 h 4 h 52 min 5 sec = 4.8681 h
14 12 h 54 min 16 sec = 12.9044 h 12 h 8 min 29 sec = 12.1414 h
15 10 h 52 min 39 sec = 10.8775 h 4 h 20 min 11 sec = 4.3364 h
Exercice 2
1 79411 h = 7 h 56 min 28 sec 7.7056 h = 7 h 42 min 20 sec
2 125389 h =12 h 32 min 20 sec 25439 h = 2 h 32 min 38 sec
31 115131 h =11 h 30 min 47 sec 71842 h = 7 h 11 min 3 sec
4 67606 h = 6 h 45 min 38 sec 26925 h = 2 h 41 min 33 sec
51 41797 h = 4 h 10 min 47 sec 12.5256 h =12 h 31 min 32 sec
6 26425 h = 2 h 38 min 33 sec 9.9528 h = 9 h 57 min 10 sec
70 3451 h = 3 h 27 min 22 sec 7.8844 h = 7 h 53 min 4 sec
8 1 56894 h = 5 h 41 min 22 sec 1.5414 h = 1 h 32 min 29 sec
91123994 h =12 h 23 min 58 sec 42581 h = 4 h 15 min 29 sec
10} 104125 h =10 h 24 min 45 sec 2.8633 h = 2 h 51 min 48 sec
1} 1495 h = 1 h 29 min 44 sec 51117 h = 5 h 6 min 42 sec
12, 17825 h = 1 h 46 min 57 sec 121389 h =12 h 8 min 20 sec
13: 84414 h = 8 h 26 min 29 sec 6.7603 h = 6 h 45 min 37 sec
14} 44356 h = 4 h 26 min 8 sec 84225 h = 8 h 25 min 21 sec
15/ 91078 h = 9 h 6 min 28 sec 83975 h = 8 h 23 min 51 sec
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Corrigé : Heures, min., sec. <--> code a virg. - gamme 07

Exercice 1
Transforme dans I"'unité (les unités) demandée(s)

A B
1 12 h 24 min 48 sec = 12.4133 h 6 h 6 min 59 sec = 6.1164 h
"2 5 h 38 min 30 sec = 5.6417 h 15 h 10 min 29 sec = 15.1747 h
"3 8 h 26 min 37 sec = 8.4436 h 13 h 40 min 55 sec = 13.6819 h
"4 7 h 44 min 2 sec = 7.7339 h 7 h 41 min 44 sec = 7.6956 h
"5 4 h 42 min 33 sec = 4.7092 h 2 h 21 min 40 sec = 23611 h
"6 9 h 22 min 52 sec = 9.3811 h 8 h 1 min 27 sec = 8.0242 h
"7 11 h 56 min 18 sec = 11.9383 h 3 h 55 min 18 sec = 3.9217 h
"8 1 h 5 min 54 sec = 1.0983 h 5 h 42 min 42 sec = 5.7117 h
"9 3 h 17 min 49 sec = 3.2969 h 15 h 24 min 57 sec = 15.4158 h
1o 10 h 53 min 44 sec = 10.8956 h 9 h 4 min 46 sec = 9.0794 h
11 2 h 51 min 23 sec = 2.8564 h 10 h 33 min 3 sec = 10.5508 h
12 11 h 51 min 45 sec = 11.8625 h 7 h 30 min 44 sec = 7.5122 h
137 7 h 15 min 21 sec = 7.2558 h 5 h 6 min 51 sec = 5.1142 h
140 1 h 25 min 29 sec = 1.4247 h 7 h 52 min 47 sec = 7.8797 h
15 14 h 11 min 37 sec = 14.1936 h 11 h 10 min 1 sec = 11.1669 h
Exercice 2
1] 57778 h = 5 h 46 min 40 sec 13.7069 h =13 h 42 min 25 sec
2 44336 h = 4 h 26 min 1 sec 11.5831 h =11 h 34 min 59 sec
37 3385 h = 3 h 23 min 6 sec 9.6797 h = 9 h 40 min 47 sec
4 95444 h = 9 h 32 min 40 sec 24314 h = 2 h 25 min 53 sec
51 41444 h = 4 h 8 min 40 sec 110647 h =11 h 3 min 53 sec
6 82158 h = 8 h 12 min 57 sec 12,1683 h =12 h 10 min 6 sec
70 63017 h = 6 h 18 min 6 sec 66222 h = 6 h 37 min 20 sec
81 123019 h =12 h 18 min 7 sec 14.0181 h =14 h 1 min 5 sec
90 78972 h = 7 h 53 min 50 sec 2.7686 h = 2 h 46 min 7 sec
10} 125203 h =12 h 31 min 13 sec 26342 h = 2 h 38 min 3 sec
1§ 79197 h = 7 h 55 min 11 sec 88342 h = 8 h 50 min 3 sec
121 47183 h = 4 h 43 min 6 sec 14.0981 h =14 h 5 min 53 sec
131 87247 h = 8 h 43 min 29 sec 64622 h = 6 h 27 min 44 sec
144 27325 h = 2 h 43 min 57 sec 42853 h = 4 h 17 min 7 sec
15/ 16831 h = 1 h 40 min 59 sec 23839 h = 2 h 23 min 2 sec
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Corrigé : Heures, min., sec. <--> code a virg. - gamme 08

Exercice 1
Transforme dans I"'unité (les unités) demandée(s)

A B
1 12 h 19 min 53 sec = 12.3314 h 9 h 37 min 43 sec = 9.6286 h
2 18 h 59 min 46 sec = 18.9961 h 14 h 57 min 52 sec = 14.9644 h
"3 10 h 26 min 2 sec = 10.4339 h 7 h 10 min 10 sec = 7.1694 h
"4 13 h 14 min 7 sec = 13.2353 h 1 h 17 min 23 sec = 1.2897 h
"5 1 h 6 min 2 sec = 1.1006 h 5 h 28 min 48 sec = 548 h
"6 7 h 54 min 40 sec = 7.9111 h 5 h 39 min 38 sec = 5.6606 h
"7 9 h 3 min 42 sec = 9.0617 h 3 h 2 min 38 sec = 3.0439 h
"8 7 h 15 min 27 sec = 7.2575 h 9 h 23 min 20 sec = 9.3889 h
"9 17 h 54 min 16 sec = 17.9044 h 3 h 34 min 39 sec = 3.5775 h
100 9 h 21 min 44 sec = 9.3622 h 8 h 12 min 22 sec = 8.2061 h
11 5 h 9 min 43 sec = 5.1619 h 11 h 54 min 57 sec = 11.9158 h
127 6 h 46 min 50 sec = 6.7806 h 8 h 21 min 23 sec = 8.3564 h
13 13 h 41 min 12 sec = 13.6867 h 5 h 28 min 38 sec = 5.4772 h
14 7 h 53 min 34 sec = 7.8928 h 11 h 24 min 54 sec = 11.415 h
15 16 h 56 min 33 sec = 16.9425 h 7 h 29 min 24 sec = 7.49 h
Exercice 2
11127097 h =12 h 42 min 35 sec 91972 h = 9 h 11 min 50 sec
2 146489 h =14 h 38 min 56 sec 18.5275 h =18 h 31 min 39 sec
3 1 1346 h =13 h 27 min 36 sec 41872 h = 4 h 11 min 14 sec
4. 11089 h =11 h 5 min 13 sec 12.3986 h =12 h 23 min 55 sec
51 118728 h =11 h 52 min 22 sec 79889 h = 7 h 59 min 20 sec
6 1 55842 h = 5 h 35 min 3 sec 10.9036 h =10 h 54 min 13 sec
7 1 148639 h =14 h 51 min 50 sec 13.8328 h =13 h 49 min 58 sec
8 1 185756 h =18 h 34 min 32 sec 45381 h = 4 h 32 min 17 sec
91 105811 h =10 h 34 min 52 sec 93922 h = 9 h 23 min 32 sec
10} 129289 h =12 h 55 min 44 sec 81983 h = 8 h 11 min 54 sec
11 114797 h =11 h 28 min 47 sec 61333 h = 6 h 8 min 0 sec
121 41867 h = 4 h 11 min 12 sec 14444 h = 1 h 26 min 40 sec
131 129064 h =12 h 54 min 23 sec 13319 h = 1 h 19 min 55 sec
14 180189 h =18 h 1 min 8 sec 20783 h = 2 h 4 min 42 sec
150 75072 h = 7 h 30 min 26 sec 51844 h = 5 h 11 min 4 sec
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Corrigé : Heures, min., sec. <--> code a virg. - gamme 09

Exercice 1
Transforme dans I"'unité (les unités) demandée(s)

A B
1 11T h 30 min 27 sec = 11.5075 h 14 h 48 min 31 sec = 14.8086 h
2 12 h 31 min 52 sec = 12.5311 h 14 h 29 min 27 sec = 14.4908 h
"3 8 h 10min 4 sec = 8.1678 h 17 h 55 min 57 sec = 17.9325 h
"4 16 h 10 min 34 sec = 16.1761 h 15 h 45 min 14 sec = 15.7539 h
"5 10 h 30 min 0 sec =105 h 13 h 2 min 45 sec = 13.0458 h
"6 9 h 29 min 54 sec = 9.4983 h 7 h 32 min 58 sec = 7.5494 h
"7 10 h 5 min 22 sec = 10.0894 h 13 h 53 min 47 sec = 13.8964 h
"8 3 h 20 min 25 sec = 3.3403 h 5 h 56 min 48 sec = 5.9467 h
"9 9 h 46 min 23 sec = 9.7731 h 10 h 44 min 15 sec = 10.7375 h
1o 16 h 34 min 49 sec = 16.5803 h 6 h min 10 sec = 6.0528 h
11 17 h 40 min 39 sec = 17.6775 h 15 h min 22 sec = 15.1228 h
127 4 h 55 min 57 sec = 4.9325 h 5 h 24 min 2 sec = 5.4006 h
131 3 h 19 min 7 sec = 3.3186 h 5 h 37 min 20 sec = 5.6222 h
14 3 h 29 min 31 sec = 3.4919 h 11 h 1 min 28 sec = 11.0244 h
15 18 h 25 min 29 sec = 18.4247 h 12 h 38 min 13 sec = 12.6369 h
Exercice 2
11107328 h =10 h 43 min 58 sec 19.5767 h =19 h 34 min 36 sec
2 53158 h = 5 h 18 min 57 sec 15575 h = 1 h 33 min 27 sec
3 124006 h =12 h 24 min 2 sec 17.8681 h =17 h 52 min 5 sec
4 1894 h =18 h 56 min 24 sec 45553 h = 4 h 33 min 19 sec
51 20833 h =2 h 5 mn 0 sec 35739 h = 3 h 34 min 26 sec
61 183881 h =18 h 23 min 17 sec 17.5694 h =17 h 34 min 10 sec
71 61172 h = 6 h 7 min 2 sec 203575 h =20 h 21 min 27 sec
81 87217 h = 8 h 43 min 18 sec 10.3986 h =10 h 23 min 55 sec
9 ¢ 32761 h = 3 h 16 min 34 sec 15.0494 h =15 h 2 min 58 sec
10¢ 71869 h = 7 h 11 min 13 sec 12.7842 h =12 h 47 min 3 sec
11: 82353 h = 8 h 14 min 7 sec 18.0844 h =18 h 5 min 4 sec
121 34489 h = 3 h 26 min 56 sec 86597 h = 8 h 39 min 35 sec
131 32081 h = 3 h 12 min 29 sec 555 h = 5 h 33 min 0 sec
14} 24442 h = 2 h 26 min 39 sec 10792 h = 1 h 4 min 45 sec
15/ 88436 h = 8 h 50 min 37 sec 122217 h =12 h 13 min 18 sec
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Exercice 1
Transforme dans I"'unité (les unités) demandée(s)

A B
1 13 h 12 min 15 sec = 13.2042 h 9 h 5 min 14 sec = 9.0872 h
"2 9 h 46 min 2 sec = 9.7672 h 13 h 38 min 44 sec = 13.6456 h
31 18 h 22 min 32 sec = 18.3756 h 22 h 58 min 41 sec = 22.9781 h
"4 23 h 10 min 41 sec = 23.1781 h 13 h 52 min 3 sec = 13.8675 h
"5 10 h 32min 1 sec = 10.5336 h 21 h 49 min 30 sec = 21.825 h
"6 | 22 h 40 min 40 sec = 22.6778 h 11 h 26 min 31 sec = 11.4419 h
"7 3 h 4 min 21 sec = 3.0725 h 20 h 9 min 51 sec = 20.1642 h
"8 18 h 27 min 5 sec = 18.4514 h 13 h 45 min 6 sec = 13.7517 h
97 7 h 17 min 25 sec = 7.2903 h 17 h 18 min 32 sec = 17.3089 h
1o 11 h 5 min 49 sec = 11.0969 h 6 h 3 min 0 sec = 6.05 h
"11. 8 h 37 min 35 sec = 8.6264 h 21 h 9 min 6 sec = 21.1517 h
12 17 h 12 min 50 sec = 17.2139 h 19 h 34 min 19 sec = 19.5719 h
137 15 h 52 min 1 sec = 15.8669 h 2 h 21 min 52 sec = 2.3644 h
14 20 h 27 min 40 sec = 20.4611 h 23 h 51 min 16 sec = 23.8544 h
15 3 h 21 min 1 sec = 3.3503 h 10 h 2 min 17 sec = 10.0381 h
Exercice 2
11 133892 h =13 h 23 min 21 sec 10.6469 h =10 h 38 min 49 sec
20 239494 h =23 h 56 min 58 sec 20.5225 h =20 h 31 min 21 sec
3 1178964 h =17 h 53 min 47 sec 57908 h = 5 h 47 min 27 sec
4132056 h =13 h 12 min 20 sec 2225 h =22 h 15 min 0 sec
51 69033 h = 6 h 54 min 12 sec 9.7758 h = 9 h 46 min 33 sec
6 169906 h =16 h 59 min 26 sec 65361 h = 6 h 32 min 10 sec
70 234725 h =23 h 28 min 21 sec 13.2778 h =13 h 16 min 40 sec
8 1 .16.2339 h =16 h 14 min 2 sec 36686 h = 3 h 40 min 7 sec
91 111486 h =11 h 8 min 55 sec 50989 h = 5 h 5 min 56 sec
10 11564 h = 1 h 9 min 23 sec 15.4089 h =15 h 24 min 32 sec
11, 81603 h = 8 h 9 min 37 sec 19.6631 h =19 h 39 min 47 sec
12 114981 h =11 h 29 min 53 sec 11.4778 h =11 h 28 min 40 sec
131 17889 h = 1 h 47 min 20 sec 3.8389 h = 3 h 50 min 20 sec
14 217158 h =21 h 42 min 57 sec 69772 h = 6 h 58 min 38 sec
15/ 38364 h = 3 h 50 min 11 sec 30442 h = 3 h 2 min 39 sec
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